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Question 1  

No. Suggested Solution Remarks for Student 
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Question 2  

No. Suggested Solution Remarks for Student 
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Note that question said 
exact and did not 
mention answer in 
terms of π   
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Question 3  

No. Suggested Solution Remarks for 
Student 

(i) 

2

2

2 2

3

3

d 2 6 ...(1)
d

...(2)
d d 2 ...(3)
d d
Sub (2) and  (3) into (1):

d 2 2 6
d

d 6
d

d 6
d

yx y
x

y ux
y ux xu
x x

ux x xu ux
x

ux
x

u
x x

= −

=

= +

 + = − 
 

= −

= −

 

 

(ii) 

 

2

2
2 2

2

3

3 3

2 when 1:  2 3 1
3

u C
x

y C y Cx
x x
y x C C

y x

= +

= + ⇒ = +

= = = + ⇒ = −

∴ = −

 

  

 
 
  



4 | P a g e  
 

Question 4  

No. Suggested Solution Remarks for Student 
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(ii) 
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Question 5  

No. Suggested Solution Remarks for 
Student 
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ff = g, we 
assume question 
is just referring 
to the rule.  
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Question 6  
 

No. Suggested Solution Remarks for 
Student 
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Question 7  
 

No. Suggested Solution Remarks for 
Student 
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(ii) 

( )

2

2

2 2

1 4 1When 1,  
21

2 8 1
1
3
1 1Let  and  be 1,  and 1,  respectively, 
3 3

121 d 179At 1, : 2 163 d 54
3 3

1 17Tangent: 1
3 54

17 1
54 54

121 d 179At 1, : 2 163 d 54
3 3

Ta

yx
y

y y

y

P Q

yP
x

y x

x y

yQ
x

−
= =

+

− = +

= ±

   −   
   

−  = = 
  +

− = −

− = −

− − = = − 
  − −

( )1 17ngent: 1
3 54

17 1
54 54

1Solving coordinates of  is ,0
17

y x

x y

N

+ = − −

+ = −

 − 
 

 

 

 
  



8 | P a g e  
 

Question 8  

No. Suggested Solution Remarks 
for Student 
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Question 9  

No. Suggested Solution Remarks for 
Student 
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Ok to have 0 and π  
included though cot is 
not defined.  
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Question 10  

No. Suggested Solution Remarks for 
Student 
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By right, we should 
sub R = 4, L = 3 and 
C = 0.75 into I and 
check that it still a 
solution of the DE. 
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Question 11 

No. Suggested Solution Remarks for 
Student 

(i) 
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Given answer in exam 
report is 102.42 
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